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Q.1 Who among the following architects is known for his use of glass and steel and his
interest in the International Style?
Ans X 1. Laurie baker
X 2. Bernard Rudofsky
«” 3. Norman Foster
X 4. Hassan Fathy
Question ID : 630680331039
Option 1 1D : 6306801287825
Option 2 ID : 6306801287827
Option 3 ID : 6306801287826
Option 4 ID : 6306801287828
Status : Answered
Chosen Option : 1




Q.2 The concept of ‘land use zoning’ in site planning involves:

Ans X 1. the integration of sustainable design principles in site development
«” 2. the division of the site into specific zones for different functions or activities
< 3. the analysis of soil composition and its suitability for construction

< 4. the consideration of traffic patterns and transportation infrastructure near the site

Question ID

: 630680330975
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801287570
6306801287569
6306801287572
6306801287571
Answered

2

Q.3 In a chilled beam cooling system, chilled water is piped to the convective coil at a
temperature range of:

Ans X 1.17°C-19°C
o 2.13°C-17°C
X 3.15°C-19°C
X 4.11°C-13°C

Status

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

630680331020

6306801287752
6306801287750
6306801287751
6306801287749

: Not Answered
Chosen Option :




Q.4 What information is typically included in GFC drawings?
Ans X 1. Historical context and cultural references

o 2. Detailed dimensions, materials and construction specifications
< 3. Preliminary cost estimates and financial projections

< 4. Artistic renderings and visual representations of the building

Question ID

: 630680330984
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801287606
6306801287605
6306801287607
6306801287608
Not Answered

Q.5 What is the total consumption of water requirements per day for Hostel Buildings per
head?

Ans X 1.70 litres
o 2. 135 litres
25 3. 95 litres
75 4.150 litres

Status

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

630680331008

6306801287701
6306801287703
6306801287702
6306801287704

. Answered
Chosen Option :

2




Q.6 Which of the following is true regarding the relationship of plan, section and
elevation?

Ans X 1. They represent different time periods in the construction process of a building.

«” 2. They complement each other and provide a comprehensive understanding of a
building's design and spatial qualities.

/< 3. They are independent and do not rely on each other in the architectural design.

< 4. Only one of them is necessary to communicate the design of a building.

Question ID

Option 4 ID

: 630680330974
Option 11D :
Option 21D :
Option 3 ID :

6306801287565
6306801287566
6306801287568

: 6306801287567
Status :
Chosen Option :

Answered
2

Q.7 The relationship between function, structure and form in design is:
Ans X 1. function, structure and form are independent of each other

#< 2. structure determines function, which then affects the form
5 3. form dictates the function, which influences the structure

«” 4. function influences the structure, which in turn determines the form

Option 3 ID

Question ID :
Option 11D :
Option 21D :

630680330970
6306801287551
6306801287549

: 6306801287552
Option 4 ID :
Status :

Chosen Option :

6306801287550
Answered
1




Q.8 The principle of scale and proportion helps to:

Ans X 1. determine the texture and pattern of an object
5 2. choose appropriate colours for a design
/< 3. establish the focal point of a composition

«” 4. create a sense of balance and harmony in a design

Question ID

Option 3 ID

Chosen Option

: 630680330969
Option 11D :
Option 21D :

6306801287548
6306801287545

: 6306801287546
Option 4 ID :

Status :
12

6306801287547
Answered

Q.9 What is the purpose of technical specifications?

Ans X 1. To describe the architectural and structural design concepts
< 2. To outline the construction phasing and sequencing of the project
«” 3. To establish the project's legal and contractual requirements

< 4. To provide guidelines to determine the project's schedule

Question ID :
Option 11D :

Option 2 ID
Option 3 ID

Chosen Option

630680330983
6306801287602

: 6306801287601
: 6306801287604
Option 4 ID :

Status :
1

6306801287603
Answered




Q.10 Which of the following is an example of a sedimentary rock commonly used as a
building stone?

Ans X 1.Basalt
#5 2. Obsidian
«” 3. Sandstone
2 4. Slate
Question ID : 630680330987
Option 11D : 6306801287620
Option 2 1D : 6306801287619
Option 31D : 6306801287618
Option 4 ID : 6306801287617
Status : Answered
Chosen Option : 3
Q.11 Which of the following is NOT a major building associated with modern architecture?
Ans X 1. Seagram Building
" 2. Hagia Sophia
< 3. Fallingwater
< 4. Louvre Pyramid
Question ID : 630680331038
Option 1 ID : 6306801287824
Option 2 ID : 6306801287822
Option 3 ID : 6306801287821
Option 4 ID : 6306801287823
Status : Answered
Chosen Option : 4




Q.12 Which of the following pollutants is primarily responsible for the phenomenon known

Ans

as ‘ozone hole’ in the earth's atmosphere?
& 1. Nitrogen oxides (NOx)

& 2. Volatile organic compounds (VOCs)
< 3. Carbon monoxide (CO)
o 4. Chlorofluorocarbons (CFCs)

Question ID :
Option 11D :

Option 2 ID

630680331023
6306801287763

: 6306801287764
Option 31D :
Option4 1D :

Status :

Chosen Option :

6306801287761
6306801287762
Answered

4

Q.13 As per IS code 875, the minimum imposed load on roof trusses shall be how much?

Ans

X 1.0.9 kN/m?
X 2.0.75 kN/m?
2 3.0.5 kKN/m?
o 4. 0.4 kN/m?

Question ID :

Option 1 ID

Status

630680330996

: 6306801287656
Option 21D :
Option 31D :
Option 4 ID :

6306801287655
6306801287654
6306801287653

: Answered
Chosen Option :

2




Q.14 What is the purpose of a building envelope?

Ans X 1. To separate interior and exterior spaces of a building
< 2. To enhance the aesthetic appeal of the building
«” 3. To regulate temperature and control energy consumption

< 4. To provide structural support to the building

Question ID

: 630680330982
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801287598
6306801287600
6306801287597
6306801287599
Answered

3

Q.15 Which of the following water supply systems provides a constant pressure throughout
the distribution network, ensuring a steady flow of water at various locations?

Ans X 1. Pressure reducing valve system
< 2. Direct pumping system
o 3. Variable-speed pumping system
< 4. Gravity-fed system

Status

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

630680331010

6306801287712
6306801287710
6306801287709
6306801287711

: Answered
Chosen Option :

4




Q.16 Which type of brick is commonly used for load-bearing structures?
Ans X 1. Perforated bricks

# 2. Hollow bricks
o 3. Solid bricks
< 4. Fly ash bricks

Question ID

Chosen Option

: 630680330986
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :
1

6306801287614
6306801287613
6306801287616
6306801287615
Answered
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Question ID :
Option 11D :
Option 21D :

Option 3 ID

630680331029
6306801287787
6306801287785

: 6306801287786
Option 4 ID :
Status :

Chosen Option :

6306801287788
Not Answered




Q.18 What is the purpose of the AutoCAD command EXPLODE?
Ans X 1. To scale an object uniformly

o 2. To break down a complex object into its individual components
/< 3. To join separate objects into a single object

< 4. To remove duplicate objects from a drawing

Question ID

Option 3 ID

Chosen Option

: 630680331040
Option 11D :
Option 21D :

6306801287830
6306801287829

: 6306801287831
Option 4 ID :

Status :
03

6306801287832
Answered

Q.19 Which type of support are commonly located at one end of long bridges.

Ans X 1. Pinned support
" 2. Roller support
< 3. Fixed support
& 4. Sliding support

Question ID :
Option 11D :
Option 21D :

Option 3 ID

Chosen Option

630680330998
6306801287664
6306801287662

: 6306801287661
Option 4 ID :

Status :
1

6306801287663
Answered




Q.20 What are the acceptable Indoor Noise Levels (dBA) in Hospital Buildings?

Ans

& 1.35-40
X 2.25-30
X 3.20-25
X 4.45-50

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680331019
6306801287747
6306801287746
6306801287745
6306801287748
Not Answered

Q.21 What percentage of rural households have access to toilets according to census 2011

Ans

data?
£1.20.7%

X 2.40.7%
o 3.30.7%
X 4.50.7%

Question ID :
: 6306801287740
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

Option 1 ID

630680331017

6306801287738
6306801287739
6306801287737
Not Answered




Q.22 What is the concept of net-zero energy in buildings in India?

Ans X 1. Buildings that are designed to reduce energy waste to a minimum
# 2. Buildings that have installed shading and solar control

/< 3. Buildings that rely solely on renewable energy sources

«” 4. Buildings that use energy equal to the amount of renewable energy created on the

site annually
Question ID : 630680330981
Option 11D : 6306801287593
Option 2 ID : 6306801287594
Option 3 ID : 6306801287596
Option 4 ID : 6306801287595
Status : Answered
Chosen Option : 4
Q.23 The ‘placemaking’ in urban design emphasises on:
Ans & 1. creating attractive and functional public spaces that foster communityiinteraction
# 2. balancing the needs of different transportation modes in urban areas
< 3. preserving historical structures in urban areas
5 4. maximising the density of buildings within a given area
Question ID : 630680330977
Option 1 ID : 6306801287577
Option 2 ID : 6306801287578
Option 3 ID : 6306801287579
Option 4 ID : 6306801287580
Status : Not Answered

Chosen Option :




Q.24 The concept of ‘urban resilience’ in urban design focuses on:

Ans X 1. the promotion of public transportation and active modes of mobility in cities

«” 2. the adaptability and capacity of cities to withstand and recover from various shocks

and stresses

< 3. the provision of affordable housing options in urban developments

/< 4. the integration of natural elements and biodiversity in urban areas

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status

630680330976

6306801287573
6306801287574
6306801287575
6306801287576

: Answered
Chosen Option :

2
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Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status

630680331032

6306801287798
6306801287800
6306801287799
6306801287797

: Answered
Chosen Option :

4




Q.26 Compass surveying is suitable where is the main consideration.
Ans X 1. areas hidden from public view

" 2. Accuracy

25 3. height

< 4. suspected local attraction

Question ID

: 630680330990
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801287631
6306801287629
6306801287630
6306801287632
Answered

4

Q.27 Which of the following pollutants is a greenhouse gas that contributes to global
warming?

Ans X 1. Nitrogen dioxide (NO2)
5 2. Particulate matter (PM)
5 3. Methane (CH4)
¥ 4. Carbon monoxide (CO)

Status

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

630680331024

6306801287766
6306801287768
6306801287765
6306801287767

: Answered
Chosen Option :

3




Q.28 What is the Occupant Load Factor of Educational Building?
Ans X 1.6.0 sqm per person

< 2.8.0 sq m per person
/< 3.10.0 sq m per person
" 4. 4.0 sq m per person

Question ID

: 630680331021
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801287755
6306801287754
6306801287753
6306801287756
Not Answered

Q.29 Name the element of design which is responsible for creating a sense of equilibrium in
a composition?

Ans X 1. Proportion
«” 2. Balance
< 3. Emphasis
< 4. Contrast

Option 1 ID

Status

Question ID :

630680330967

: 6306801287539
Option 21D :
Option 31D :
Option 4 ID :

6306801287538
6306801287540
6306801287537

: Not Answered
Chosen Option :




Q.30 In an auditorium, rows of seats opening on to an aisle at one end only shall have not

more than seats.
Ans X 1.8
X 25
3.7
X 4.6
Question ID : 630680331004
Option 1 1D : 6306801287688
Option 2 ID : 6306801287685
Option 3 ID : 6306801287687
Option 4 ID : 6306801287686
Status : Not Answered
Chosen Option : --
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Question ID : 630680331015
Option 1 1D : 6306801287731
Option 2 ID : 6306801287732
Option 3 ID : 6306801287729
Option 4 ID : 6306801287730
Status : Answered
Chosen Option : 4




Q.32 What is the purpose of the AutoCAD command FILLET?

Ans & 1. To create a rounded corner between two lines or objects
< 2. To create a 3D solid object
/< 3. To create a smooth transition between two curves

/< 4. To create a chamfered edge between two lines or objects

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680331046
6306801287855
6306801287856
6306801287853
6306801287854
Answered

1

Q.33 How does the moment of inertia change when the mass distribution of an object is
concentrated closer to its axis of rotation?

Ans & 1. The moment of inertia decreases
% 2. The moment of inertia remains unchanged
< 3. The moment of inertia increases

#< 4. The moment of inertia becomes zero

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680331000
6306801287671
6306801287672
6306801287670
6306801287669
Answered

2




Q.34 Which project management methodology focuses on flexibility and adaptability?

Ans o 1. Agile
25 2. PRINCE2
25 3. Waterfall
< 4. Six Sigma
Question ID : 630680330979
Option 11D : 6306801287588
Option 2 ID : 6306801287587
Option 3 ID : 6306801287586
Option 4 ID : 6306801287585
Status : Not Answered
Chosen Option : ==
Q.35 What does the term ‘float’ refer to in project management?
Ans X 1. The number of team members assigned to a particular task
" 2. The total time available for an activity without delaying the project
#5 3. The ability of a project manager to navigate challenging situations
< 4. The time allocated for breaks and relaxation during a project
Question ID : 630680330978
Option 1 ID : 6306801287582
Option 2 ID : 6306801287581
Option 3 ID : 6306801287583
Option 4 ID : 6306801287584
Status : Answered
Chosen Option : 3




Q.36 Which architectural feature is commonly found in Romanesque churches?
Ans & 1. Pointed arches

& 2. Flying buttresses
< 3. Greek columns
/< 4. Rose windows

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680331035
6306801287810
6306801287812
6306801287809
6306801287811
Not Answered

Q.37 Which is the best method of solving a three-point problem?
Ans X 1. Graphical Method

& 2. Mechanical Method
o 3. Trial and Error
& 4. Lehmann's Rule

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680330992
6306801287640
6306801287639
6306801287637
6306801287638
Answered

2




Q.38 What is the reflectance value of white wash finish of surface in artificial lighting?

Ans o 1.0.7-0.8
5 2.0.5-0.6
/5 3.0.3-04
X 4.0.6-0.7
Question ID : 630680331018
Option 1 ID : 6306801287742
Option 2 ID : 6306801287743
Option 3 ID : 6306801287744
Option 4 ID : 6306801287741
Status : Answered
Chosen Option : 4
Q.39 Which of the following is NOT a way to increase the use of renewable resources?
Ans & 1. Investin research and development.
/< 2. Educate the public about the benefits of renewable energy.
< 3. Provide financial incentives.
/< 4. Create policies that support renewable energy.
Question ID : 630680331022
Option 1 ID : 6306801287760
Option 2 ID : 6306801287759
Option 3 ID : 6306801287758
Option 4 ID : 6306801287757
Status : Answered
Chosen Option : 3




Q.40 Which file format supports transparency in Photoshop?

Ans X 1.TIFF
& 2. JPEG
& 3.GIF
o 4. PNG
Question ID : 630680331042
Option 1 ID : 6306801287840
Option 2 ID : 6306801287837
Option 3 ID : 6306801287838
Option 4 ID : 6306801287839
Status : Answered
Chosen Option : 1
Q.41 Which type of support allows translation in one direction but prevents translation in
the perpendicular direction?
Ans X 1. Roller support
5 2. Pinned support
o 3. Sliding support
< 4. Fixed support
Question ID : 630680330997
Option 1 ID : 6306801287658
Option 2 ID : 6306801287657
Option 3 ID : 6306801287660
Option 4 ID : 6306801287659
Status : Answered

Chosen Option :

1




Q.42 Which of the following materials is known for its high thermal insulation properties?

Ans X 1. Steel
# 2. Concrete
/< 3. Glass
o 4. Polystyrene foam
Question ID : 630680330980
Option 1 ID : 6306801287589
Option 2 ID : 6306801287592
Option 3 ID : 6306801287591
Option 4 ID : 6306801287590
Status : Answered
Chosen Option : 4
Q.43 Where is the maximum bending moment typically located in a simply supported beam
with a concentrated load at the centre?
Ans X 1. Ata point between the centre and the supports
«” 2. At the supports of the beam
< 3. At the centre of the beam
< 4. Bending moment is constant throughout the beam
Question ID : 630680330999
Option 11D : 6306801287668
Option 2 ID : 6306801287665
Option 3 ID : 6306801287666
Option 4 ID : 6306801287667
Status : Answered
Chosen Option : 3




Q.44 What shall be the minimum width of footpath for residential/mixed use areas?

Ans X 1.15m
K2.25m
K03.27m
o 4.18m
Question ID : 630680331001
Option 1 ID : 6306801287673
Option 2 ID : 6306801287675
Option 3 ID : 6306801287676
Option 4 ID : 6306801287674
Status : Answered
Chosen Option : 2
Q.45 The interrelationship of spaces in design is important because it:
Ans X 1. establishes the hierarchy and focal point in a composition
# 2. determines the choice of materials and construction methods
/< 3. dictates the overall shape and form of an object
«” 4. enhances the functionality and flow of a design
Question ID : 630680330972
Option 1 ID : 6306801287560
Option 2 ID : 6306801287559
Option 3 ID : 6306801287558
Option 4 ID : 6306801287557
Status : Answered
Chosen Option : 1
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Ans X 1. IdUTFC
X 2.5
o 3.79a
X 4. WHR
Question ID : 630680331034
Option 1 ID : 6306801287808
Option 2 ID : 6306801287807
Option 3 ID : 6306801287806
Option 4 ID : 6306801287805
Status : Answered
Chosen Option : 4
Q.47 Which design movement emerged in the early 20th century and emphasised simplicity,
functionality and mass production?
Ans X 1.Art Nouveau
" 2. Bauhaus
/< 3. Postmodernism
< 4. Art Deco
Question ID : 630680331037
Option 1 ID : 6306801287817
Option 2 ID : 6306801287819
Option 3 ID : 6306801287818
Option 4 ID : 6306801287820
Status : Not Answered
Chosen Option : --




Q.48 Which of the following processes in sewage treatment is responsible for the removal

Ans

of nitrogen and phosphorus compounds?
o 1. Tertiary treatment

#< 2. Denitrification
< 3. Primary treatment

< 4. Secondary treatment

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :
Status :

Chosen Option :

630680331012
6306801287718
6306801287717
6306801287720
6306801287719
Answered

2

Q.49 With storage type installation, the maximum rate of hot water flow for wash basin is

Ans

litres/minute.

X 1.9
X 2.3
X 3.7
& 4.5

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680331009
6306801287708
6306801287705
6306801287707
6306801287706
Not Answered




Q.50 What does the term ‘adaptive reuse’ refer to in retrofitting?

Ans X 1. Incorporating sustainable materials into the construction process
% 2. Renovating a building to improve its structural integrity
< 3. Implementing energy-efficient systems in an existing building

" 4. Modifying a building to accommodate new functions or uses

Question ID

: 630680330985
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801287612
6306801287609
6306801287611
6306801287610
Answered

2

Q.51 The proportion of the distance on map to the corresponding distance on ground is
known as:

Ans X 1. Linear Scale
< 2. Plane Scales
< 3. Diagonal Scales

¥ 4. Representative Fraction

Option 1 ID

Question ID :

630680330989

: 6306801287628
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801287625
6306801287627
6306801287626
Answered

4
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Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID

630680331005

6306801287690
6306801287689
6306801287691

: 6306801287692
Status :
Chosen Option :

Answered
1

Q.53 Which of the following is NOT a common type of stone used as a building material?

Ans

o 1. Gypsum
5 2. Granite
2 3. Limestone
7 4. Marble

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680330988
6306801287623
6306801287624
6306801287622
6306801287621
Answered

1




Q.54 Which type of line is commonly used for dimension lines in technical drawings?

Ans X 1.Hidden line
" 2. Extension line
/< 3. Object line

< 4. Centre line

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680331044
6306801287848
6306801287846
6306801287847
6306801287845
Not Answered

Q.55 What is the purpose of the AutoCAD command HATCH?

Ans & 1. Tofill an enclosed area with a pattern or solid colour
& 2. To create a gradient fill effect
5 3. To add text to a drawing

< 4. To align objects along a specified path

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680331041
6306801287836
6306801287835
6306801287834
6306801287833
Not Answered




Q.56 Which type of load is typically responsible for causing lateral deflection and bending

in structural members?

Ans 4 1. Wind load
#5 2. Dead load
2% 3. Snow load
< 4. Live load
Question ID : 630680330995
Option 1 ID : 6306801287650
Option 2 ID : 6306801287649
Option 3 ID : 6306801287651
Option 4 ID : 6306801287652
Status : Answered
Chosen Option : 4
Q.57 Mention the architectural feature which is commonly found in Romanesque churches.
Ans X 1. Flying buttresses
o 2. Minarets
< 3. Stained glass windows
< 4. Pendentives
Question ID : 630680331036
Option 11D : 6306801287816
Option 2 ID : 6306801287813
Option 3 ID : 6306801287815
Option 4 ID : 6306801287814
Status : Not Answered

Chosen Option :




Q.58 Which type of projection is commonly used to represent the top, front and side views
of an object?

Ans X 1. Isometric projection
«” 2. Orthographic projection
< 3. Oblique projection

< 4. Perspective projection

Option 2 ID

Question ID :
Option 11D :

630680331045
6306801287850

: 6306801287849
Option 31D :
Option4 1D :

Status :

Chosen Option :

6306801287851
6306801287852
Answered

2

Q.59 Which of the following is NOT a major order of Classical Greek architecture?
Ans X 1. Corinthian

< 2. Doric
" 3. Tuscan

< 4. lonic

Option 1 ID

Status

Question ID :

630680331033

: 6306801287804
Option 21D :
Option 31D :
Option 4 ID :

6306801287802
6306801287801
6306801287803

: Not Answered
Chosen Option :




Q.60 Which of the following is NOT a characteristic of the Indus Valley Civilisation?

Ans X 1. Well-planned cities
< 2. Advanced drainage system
#< 3. Use of bricks

«” 4. Large public baths

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680331028
6306801287782
6306801287781
6306801287784
6306801287783
Answered

3

Q.61 Metabolic Rate M for Standing relaxed Activity is:
Ans 170 W/m?

X 2.60 W/m?
X 3.80 W/m?
X 4.50 W/m?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680331027
6306801287778
6306801287779
6306801287777
6306801287780
Not Answered




Q.62 Which type of force is responsible for pulling a structure apart?
Ans o 1.Tension

25 2. Shear
< 3. Bending

< 4. Compression

Question ID

: 630680330994
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801287647
6306801287646
6306801287645
6306801287648
Answered

1

Q.63 Which of the following is NOT a goal of GRIHA?

Ans X 1. To promote the use of renewable energy
#5 2. To encourage the development of green building technologies
«” 3. To improve the quality of life for building occupants

< 4. To reduce the environmental impact of buildings

Question ID :
Option 11D :
Option 21D :

Option 3 ID

630680331026
6306801287774
6306801287775

: 6306801287776
Option 4 ID :
Status :

Chosen Option :

6306801287773
Not Answered




Q.64 fafafEd # @ $19-91, & THE WR9-3m AfqR = 781 37

Ans X' 1. CAlIcY
X 2. ToRTE!
X 3.95%%
o 4.5
Question ID : 630680331031
Option 1 ID : 6306801287793
Option 2 ID : 6306801287794
Option 3 ID : 6306801287796
Option 4 ID : 6306801287795
Status : Answered
Chosen Option : 2
Q.65 Which of the following is NOT a component of solid waste management?
Ans X 1. Transportation
" 2. Reduction
7 3. Disposal
7 4. Collection
Question ID : 630680331013
Option 1 ID : 6306801287722
Option 2 ID : 6306801287721
Option 3 ID : 6306801287723
Option 4 ID : 6306801287724
Status : Answered
Chosen Option : 2




Q.66 Name the principle of design that refers to the repetition of visual elements to create a

Ans

sense of movement and harmony?

& 1. Contrast
& 2. Rhythm

< 3. Proportion

4. Alignment
Question ID : 630680330968
Option 1 ID : 6306801287541
Option 2 ID : 6306801287543
Option 3 ID : 6306801287542
Option 4 ID : 6306801287544

Status : Not Answered
Chosen Option : --
Q.67 Which of the following sewer pipe materials offers the highest resistance to chemical
corrosion and is commonly used in industrial wastewater applications?
Ans X 1. PVC (Polyvinyl chloride)

< 2. Concrete

«” 3. HDPE (High-density polyethylene)

< 4. Castiron
Question ID : 630680331011
Option 1 ID : 6306801287714
Option 2 ID : 6306801287715
Option 3 ID : 6306801287716
Option 4 ID : 6306801287713

Status : Answered
Chosen Option : 1




Q.68 Space usage in design involves:

Ans

& 1. organising and arranging objects within a given area
< 2. choosing appropriate colours for a composition
< 3. determining the overall shape or form of an object

/< 4. balancing the visual weight of elements in a design

Question ID

: 630680330971
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801287555
6306801287556
6306801287554
6306801287553
Answered

1

Q.69 Which force is responsible for causing deformation or displacement in a structure?

Ans

< 1. Residual force
X 2. Static force
" 3. Applied force

< 4. Dynamic force

Question ID :
Option 11D :
Option 21D :

Option 3 ID

630680330993
6306801287641
6306801287642

: 6306801287644
Option 4 ID :
Status :

Chosen Option :

6306801287643
Answered
3




Q.70 Minimum size for street sewer in flat terrains is:
Ans o 1.200 mm

252,150 mm
< 3.100 mm
< 4.250 mm
Question ID : 630680331016
Option 1 ID : 6306801287735
Option 2 ID : 6306801287734
Option 3 ID : 6306801287733
Option 4 ID : 6306801287736
Status : Answered
Chosen Option : 2
Q.71 Which of the following is NOT an example of an accessible feature?
Ans & 1. Braille signage
< 2. Accessible ramps
< 3. Wheelchair lifts
< 4. Wide doorways
Question ID : 630680331007
Option 1 ID : 6306801287700
Option 2 ID : 6306801287698
Option 3 ID : 6306801287697
Option 4 ID : 6306801287699
Status : Not Answered

Chosen Option :




Q.72 Which of the following methods of solid waste management involves the conversion
of organic waste into a nutrient-rich soil amendment through biological
decomposition?

Ans X 1. Landfilling
# 2. Incineration
25 3. Pyrolysis
" 4. Composting

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680331014
6306801287727
6306801287725
6306801287726
6306801287728
Not Answered

Q.73 Contour lines cross ridge lines at
Ans X 1.180°

X 2.60°
X 3.30°
o 4.90°

angles.

Question ID

: 630680330991
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801287636
6306801287634
6306801287633
6306801287635
Answered

4




Q.74 All exits from hospital or infirmary sections shall be not less than in width.

& 1.20m
X 2.30m

X 3.21m
X 4.24m

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680331003
6306801287681
6306801287684
6306801287682
6306801287683
Not Answered

Q.75 What shall be the colour code description of the Public and Semi-Public land use as

per NBC?
25 1. Purple
«” 2. Dark blue

Ans

25 3. Yellow
X 4. Red

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680331002
6306801287679
6306801287680
6306801287677
6306801287678
Not Answered




Q.76 Which feature in SketchUp allows you to apply realistic materials and textures to

Ans

objects?
& 1. Arc tool

#5 2. Follow Me tool
< 3. Tape Measure tool
«” 4. Paint Bucket tool

Question ID :
Option 11D :

Option 2 ID

630680331043
6306801287844

: 6306801287842
Option 31D :
Option4 1D :

Status :

Chosen Option :

6306801287841
6306801287843
Not Answered

Q.77 Which of the following organisations in India is responsible for formulating and

Ans

implementing harmonised guidelines and standards for universal accessibility?
< 1. Indian National Trust for Art and Cultural Heritage

«” 2. Bureau of Indian Standards
< 3. Central Public Works Department

< 4. Ministry of Social Justice and Empowerment

Question ID

Option 4 ID

: 630680331006
Option 11D :
Option 21D :
Option 31D :

6306801287695
6306801287696
6306801287694

: 6306801287693
Status :
Chosen Option :

Answered
2




Q.78 HI-3f IRGWS faRwar URe-3md wieR aregean &1 sifdraemn 272

Ans g1 AR
X 2.7H8u
X 3. 1R
X 4™
Question ID : 630680331030
Option 1 ID : 6306801287790
Option 2 ID : 6306801287792
Option 3 ID : 6306801287789
Option 4 ID : 6306801287791
Status : Not Answered
Chosen Option : --
Q.79 Which of the following design strategies is commonly used in climate-responsive
design to minimise solar heat gain in hot climates?
Ans X 1. Dark-coloured exterior surfaces
/< 2. West-facing orientation
o 3. Light-coloured exterior surfaces
& 4. Large windows
Question ID : 630680331025
Option 1 ID : 6306801287770
Option 2 ID : 6306801287771
Option 3 ID : 6306801287769
Option 4 ID : 6306801287772
Status : Answered
Chosen Option : 3




Q.80 The spaces within the buildings that facilitate movement and access are called:
Ans X 1. public spaces

o 2. circulation spaces
/< 3. transition spaces

/< 4. open spaces

Question ID

: 630680330973
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801287562
6306801287564
6306801287561
6306801287563
Answered

2

Section : Reasoning




Q.1

Ans

Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

Some heaters are ACs.

All ACs are doors.

No doors are coolers.

Conclusions:

. No ACs are heaters.

II. All coolers are ACs.

lIl.Some heaters are doors.

%" 1. Only conclusion Il follows.
75 2. All the conclusions 1, 1l and 11l follow.
75 3. Only conclusions | and Il follow.

< 4. Conclusion | and either conclusion Il or Il follow.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :
Chosen Option :

630680330195
6306801284462
6306801284463
6306801284461
6306801284464
Answered

1




Q.2 In a certain code language, MANNER is coded as BNOOSF and BLASTS is coded as
MCTBTU. How will REVIEW be coded in that language?

Ans X 1. FSJWFX

& 2. FSWJXF

o 3. FSIWXF

5 4. FSWJFX
Question ID : 630680330185
Option 1 ID : 6306801284422
Option 2 ID : 6306801284421
Option 3 ID : 6306801284423
Option 4 ID : 6306801284424

Status : Answered
Chosen Option : 3
Q.3 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.
GHL, LBQ, ?, YSA, GPF
Ans X 1. RWW

& 2. RV

X 3.8wWv

o 4. RWV
Question ID : 630680330194
Option 1 ID : 6306801284458
Option 2 ID : 6306801284457
Option 3 ID : 6306801284460
Option 4 ID : 6306801284459

Status : Answered
Chosen Option : 1




Q.4 Select the figure from among the given options that can replace the question mark (?) in the following series.

® A© © ® o ©
© @ ? TEN S
® Bl A ® ®
Ans @ @
X1 >
VAN O
© ©®
x| @
VAN O
© ©®
vi| @
A ©
© <@
xo| @
VAN O

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

630680330198
6306801284474
6306801284473
6306801284476
6306801284475
Answered




l Chosen Option : 4
Q.5 3juIfer A ¥R &1 ufkay ot Arar & ufa F gHedt g8 B G F T A S IR B
3oifer | w1 Yoy 87
Ans X 1. Yl
2. 96
X 3. Ot @t
o 4. 3B
Question ID : 630680330182
Option 1 ID : 6306801284409
Option 2 ID : 6306801284410
Option 3 ID : 6306801284411
Option 4 ID : 6306801284412
Status : Answered
Chosen Option : 4
Q.6 Four letter-clusters pairs have been given, out of which three are alike in some manner
and one is different. Select the one that is different.
Ans X 1. CONFUSED : FGUWHPQE
< 2. NEGATIVE : GXKVCIGP
¥ 3. POSITIVE : GXKVKVQR
#< 4. ACCURACY : AECTWEEC
Question ID : 630680330190
Option 1 ID : 6306801284442
Option 2 ID : 6306801284441
Option 3 ID : 6306801284443
Option 4 ID : 6306801284444
Status : Answered
Chosen Option : 2




Q.7 What will be the approximate value of the following expression (in whole number)?

Ans

39.85 x 26.92 + 840.89 + 29.450 — 434.78 = ?

X 1.476
X 2.746

" 3.674
X 4.764

Question ID :
Option 11D :

Option 2 ID

630680330180
6306801284401

: 6306801284403
Option 3 ID :
Option 4 ID :

Status :

Chosen Option :

6306801284402
6306801284404
Not Answered
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X2 Zasit
X3

& 4 G

Option 2 ID

Question ID :
Option 11D :

630680330192
6306801284452

: 6306801284451
Option 3D :
Option 4 ID :

Status :

Chosen Option :

6306801284449
6306801284450
Not Answered




Q.9 Select the pair that best represents a similar relationship to the one expressed in the
pair given below.

5-A-7-L-5-S : V-26-T-15-V-8
Ans X 1.2-A-3-K-21-P : Y-1-X-11-F-16

& 2. 2-A-19-K-5-T : B-26-S-16-E-7
o 3. 3-A-13-E-18-A: X-26-N-22-1-26
& 4.1-B-1-C-21-S : Z-2-Z-3-F-19

Option 1 ID

Status

Question ID :

630680330187

: 6306801284432
Option 2 ID :
Option 31D :
Option 4 ID :

6306801284429
6306801284431
6306801284430

: Not Answered
Chosen Option :




Q.10 gfy
'AQB FT I fF B, AT TR,
‘A@B &34 8 fF B, AwTfUaT B,
‘A B FIAfEfH B ABI TR,
‘A B T3 3 fF B, ADTUTE B 3R
‘A% B F1 34 § fF B, ABT AT 3,
FrufafEa sive § 'Q &1'M 3 71 Hay 82

MYN@OQP%Q&R
Ans X' 1. 9¥

& 2. 1T
X 3. Tal
X 4. 98

Question ID :
Option 11D :

Option 2 ID

630680330183
6306801284416

: 6306801284413
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801284415
6306801284414
Answered

1

Section : Quantitative Aptitude




@1 Simplify:

1 2 3 3 1 5 3 7 1 1
(72+20f33)x 211220321422
2 5 4 10 3 12 5 9 3 2
Ans 215
K1 —
9
13
¥ 0. Th
&
X3 2
41
v
18
Question ID : 630680330824
Option 1 ID : 6306801286966
Option 2 ID : 6306801286967
Option 3 ID : 6306801286965
Option 4 ID : 6306801286968
Status : Not Answered
Chosen Option : ==
Q.2 There are three numbers. When the average of any two of them is added to the third
number, the sums obtained are 53, 57 and 72. What is the average of the original three
numbers?
(correct to one decimal place)
Ans 4 1.303
5 2.33.6
/< 3.28.6
K4.31.2
Question ID : 630680330819
Option 1 ID : 6306801286946
Option 2 ID : 6306801286948
Option 3 ID : 6306801286945
Option 4 ID : 6306801286947
Status : Not Answered
Chosen Option : --




Q.3 If the 5-digit number 974ab is divisible by 3, 7 and 11, then what is the value of
(a?+b%-ab)?

Ans X 1.57
o 2.52
X< 3.43
X 4.67
Question ID : 630680330826
Option 1 ID : 6306801286975
Option 2 ID : 6306801286974
Option 3 ID : 6306801286973
Option 4 ID : 6306801286976
Status : Not Answered
Chosen Option : --
Q.4 Kapil loses 12% when he sells item X for ¥2,288 and gains 28% when he sells item Y
for ¥6,912. If he sells X at a profit of 25%, and Y at a loss of 5%, then what will be his
overall gain/loss percentage?
Ans X 1.Gain, 5.5%
& 2. Loss, 3.5%
< 3. Loss, 4.5%
o 4. Gain, 4.75%
Question ID : 630680330836
Option 11D : 6306801287015
Option 2 ID : 6306801287014
Option 3 ID : 6306801287016
Option 4 ID : 6306801287013
Status : Not Answered

Chosen Option :




Q.5 The income of Arun is ¥54,000, which is 20% less than that of Varun. The expenditure
of Varun is 20% more than the income of Arun, and the expenditure of Arun is 22% less

than the expenditure of Varun. What is the difference (in ) in their savings?

Ans X 1.768
& 2.758
& 3.776
o 4.756
Question ID : 630680330833
Option 11D : 6306801287003
Option 2 ID : 6306801287002
Option 3 ID : 6306801287004
Option 4 ID : 6306801287001
Status : Not Answered
Chosen Option : --
Q.6 Train A travelling at 60 km/h, crosses completely, a bridge of length 275 m in 27
seconds. How much time (in seconds) will train B of length 245 m, travelling at 48 km/h
in opposite direction, take to cross train A completely?
Ans X 1.15
K 2.16
X 3.18
o 4.14
Question ID : 630680330842
Option 11D : 6306801287038
Option 2 ID : 6306801287039
Option 3 ID : 6306801287040
Option 4 ID : 6306801287037
Status : Not Answered

Chosen Option :




Q.7 Ais 60% more than B and C is 20% less than the average of A and B. By what
percentage is C less than A?

& 1.35%
X 2.25%
X 3.30%
X 4.20%

Ans

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :
Status :

Chosen Option :

630680330831
6306801286996
6306801286994
6306801286995
6306801286993
Not Answered

Q.8 Asolid metallic sphere of diameter 12 cm is melted and recast into three solid spheres. The radii of two of these spheres are 2.5 cm

: . . o9 : g
and 4 cm. What is the surface area (1n cmz) of the third sphere so formed, if % cm?® material was wasted in the process?

Ans

X1 144w
2 100m
X3 64m
X4 80m

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680330822
6306801286960
6306801286959
6306801286957
6306801286958
Not Answered




profit percentage will be:

Ans X' 1. 2024

Q.9 By selling an article at 19 of its actual selling price, there is a loss of 36%. If it is sold at 85% of its actual selling price, then the

Chosen Option :

X 2 18%
X3 15%
o 4. 19%
Question ID : 630680330838
Option 1 ID : 6306801287024
Option 2 ID : 6306801287022
Option 3 ID : 6306801287021
Option 4 ID : 6306801287023
Status : Not Answered
Chosen Option : --
Q.10 The cost of manufacturing a car is made up of three heads-cost of material, cost of
labour and cost of overheads. In 2021, these heads were in theratio 7 : 5: 3,
respectively. In 2022, the cost of material increased by 20% and that of labour
increased by 25%, but the cost of overheads decreased by 25%. What was the
percentage increase in the cost of a car in 2022 over 20217
(correct to one decimal place)
Ans X 1.11.5%
X 2.13.2%
& 3.13.4%
o 4.12.7%
Question ID : 630680330834
Option 1 ID : 6306801287005
Option 2 ID : 6306801287007
Option 3 ID : 6306801287008
Option 4 ID : 6306801287006
Status : Not Answered

Section : General Awareness




Q.1 Which dynasty is remembered for conquests to the modern-day South India and
successfully repelling Mongol invasions of India?

Ans X 1.The Lodi Dynasty
& 2. The Mamluk dynasty
«” 3. The Khalji dynasty

5 4. The Tughlag dynasty

Question ID : 630680330868
Option 11D : 6306801287144
Option 2 ID : 6306801287141
Option 31D : 6306801287143
Option 4 ID : 6306801287142
Status : Not Answered
Chosen Option : --
Q.2 Which of the following is NOT one of the salient features of India’s Neighbourhood
First Policy?
Ans X 1. Connectivity
< 2. Technical cooperation
«” 3. Economic corridor
< 4. Dialogue
Question ID : 630680330863
Option 11D : 6306801287123
Option 2 ID : 6306801287124
Option 3 ID : 6306801287121
Option 4 1D : 6306801287122
Status : Answered

Chosen Option

1




Q.3 Every year, National Technology Day falls on which date?

Ans

25 1,10 April
o 2. 11 May
#< 3. 18 October
< 4. 23 August

Question ID

: 630680330848
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801287063
6306801287062
6306801287064
6306801287061
Not Answered

Q.4 Who is the first Indian appointed as the Deputy Director-general of Programmes in the

Ans

World Health Organization (WHO)?
5 1. Dr Rukhmabai Bhimrao Raut

o 2. Dr Soumya Swaminathan
< 3. Dr Shivkar Bapuiji
#< 4. Dr Surjo Kumar Chakroborty

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status

630680330853

6306801287084
6306801287081
6306801287083
6306801287082

: Answered
Chosen Option :

2




Q.5 Who won India’s first ever Khel Ratna award?
Ans & 1. Viswanathan Anand

# 2. Sachin Tendulkar
£ 3. MC Mary Kom
< 4. Vijender Singh

Question ID : 630680330857
Option 1 ID : 6306801287100
Option 2 ID : 6306801287098
Option 3 ID : 6306801287097
Option 4 ID : 6306801287099
Status : Answered
Chosen Option : 3

Q6 g&mmmmmﬁm@mﬁwmmﬁbqﬁhaﬁmwﬁwﬁmaﬂ
?

Ans X' 1. IO
X 2. A U™
o 3. f%R
X 4. WU

Question ID : 630680330859
Option 1 ID : 6306801287105
Option 2 ID : 6306801287106
Option 3 ID : 6306801287108
Option 4 ID : 6306801287107
Status : Answered
Chosen Option : 1




Q.7 India, the United States (US), Israel and launched a new quadrilateral economic
forum in November 2021 to concentrate on regional infrastructure development
projects and improve bilateral cooperation.

Ans & 1. the United Arab Emirates (UAE)
& 2. France
5 3. the United Kingdom (UK)
75 4. Canada

Question ID

: 630680330862
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

6306801287119
6306801287117
6306801287118
6306801287120
Answered

1

Q.8 Which of the following is NOT one of the features of the Federal system in India?
Ans X 1. Independence judiciary

< 2. Dual citizenship
< 3. Bicameralism

«” 4. Flexibility of Constitution

Option 3 ID

Question ID :
Option 11D :
Option 21D :

630680330872
6306801287160
6306801287159

: 6306801287157
Option 4 ID :
Status :

Chosen Option :

6306801287158
Answered
2




Q.9
What does Article 16 in The Constitution of India deals with?

Ans X 1. Abolition of untouchability
75 2. Abolition of titles
o 3. Equality of opportunity in matters of public employment

< 4. Prohibition of discrimination

Question ID : 630680330874
Option 1 ID : 6306801287167
Option 2 ID : 6306801287165
Option 3 ID : 6306801287166
Option 4 ID : 6306801287168
Status : Answered
Chosen Option : 3
Q.10 Who devised a 20-year action plan to achieve economic growth through technological
development in India?
Ans X 1. Dr Shanti Swarup Bhatnagar
< 2. Dr JC Bose
«” 3. Dr APJ Abdul Kalam
< 4. Dr Joyeeta Gupta
Question ID : 630680330851
Option 1 ID : 6306801287074
Option 2 ID : 6306801287073
Option 3 ID : 6306801287075
Option 4 ID : 6306801287076
Status : Answered

Chosen Option

1

Section : English Language




Q.1

Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. We're gonna get a Health Department Citation for rats and vermin.

B. And all that food that you give them is attracting rats and vermin.

C. Those birds are evil.

D. You know how much it costs to get a Health Department Citation for rats and
vermin?

Ans 1. CBAD
/< 2. BCAD
/< 3.DCBA
< 4.ABCD
Question ID : 630680330311
Option 11D : 6306801284928
Option 2 ID : 6306801284926
Option 3 ID : 6306801284925
Option 4 ID : 6306801284927
Status : Answered
Chosen Option : 3
Q.2 Select the most appropriate option (conveying the meaning in brackets) to fill in the
blanks.
We sang so that (in or to a lower position than somebody/something; under
somebody/something) the lyrics of that eternal lullaby, our murmured conversation
would be (that cannot be seen, heard or understood) to them.
Ans & 1. beneath; indiscernible
25 2. across; moving
25 3. aside; gibberish
5 4. behind; funny
Question ID : 630680330326
Option 1 ID : 6306801284986
Option 2 ID : 6306801284987
Option 3 ID : 6306801284985
Option 4 ID : 6306801284988
Status : Not Answered
Chosen Option : --




Q.3 Select the most appropriate option (conveying the meaning in brackets) to fill in the

Ans

blanks.

You (to walk or move in an unsteady way) and ran, and when you looked back,

she was fighting them,
kicking.

25 1. tripped; loosening
5 2. shook; waving

«” 3. stumbled; flailing
£ 4. skidded; releasing

(move arms and legs around without control) and

Question ID :

Option 1 ID

Status

630680330323

: 6306801284975
Option 2 ID :
Option 31D :
Option 4 ID :

6306801284974
6306801284973
6306801284976

: Not Answered
Chosen Option :




Q.4
Ans

Comprehension:

Read the following information carefully and answer the given questions.

India's economy is firmly out of the throes of the pandemic blues, the higher-than-expected
7.2% GDP growth last year could actually be an 'underestimate’, and the country is now
poised for a decade, if not more, of uninterrupted 6.5%-7% growth, even if no further reforms
are undertaken. This was the key message from Chief Economic Advisor, V Anantha
Nageswaran's prognosis of the state of the economy, conveyed to industry leaders last week.
India, he asserted, could now grow for a longer period of seven to 15 years as China did
between 1979 and 2008 without ‘running into overheating problems’ as it did after three-four
years of strong growth in recent decades. Among the reasons for his optimism - strong
momentum, better macro fundamentals with inflation and trade deficits easing in recent
months and cleaner bank and corporate balance sheets, bolstered by reforms such as Goods
and Services Tax (GST) and digitisation that are spurring formalisation.

SubQuestion No : 4
Identify the ANTONYM of the word ‘optimism’ used in the passage.
" 1. Pessimism

< 2. Cheer
75 3. Hopefulness
/< 4. Comedy

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680330334
6306801285010
6306801285012
6306801285009
6306801285011
Answered

1




Q.5
Ans

Comprehension:

Read the following information carefully and answer the given questions.

India's economy is firmly out of the throes of the pandemic blues, the higher-than-expected
7.2% GDP growth last year could actually be an 'underestimate’, and the country is now
poised for a decade, if not more, of uninterrupted 6.5%-7% growth, even if no further reforms

are undertaken. This was the key message from Chief Economic Advisor, V Anantha

Nageswaran's prognosis of the state of the economy, conveyed to industry leaders last week.
India, he asserted, could now grow for a longer period of seven to 15 years as China did
between 1979 and 2008 without ‘running into overheating problems’ as it did after three-four

years of strong growth in recent decades. Among the reasons for his optimism - strong
momentum, better macro fundamentals with inflation and trade deficits easing in recent

months and cleaner bank and corporate balance sheets, bolstered by reforms such as Goods

and Services Tax (GST) and digitisation that are spurring formalisation.

SubQuestion No : §
Identify the synonym of the word ‘spurring’ used in the passage.
< 1. Slowing

" 2. Goading
/< 3. Receding
< 4. Tangling

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680330335
6306801285014
6306801285016
6306801285013
6306801285015
Not Answered




Q.6
Ans

Comprehension:

Read the following information carefully and answer the given questions.

India's economy is firmly out of the throes of the pandemic blues, the higher-than-expected
7.2% GDP growth last year could actually be an 'underestimate’, and the country is now
poised for a decade, if not more, of uninterrupted 6.5%-7% growth, even if no further reforms
are undertaken. This was the key message from Chief Economic Advisor, V Anantha
Nageswaran's prognosis of the state of the economy, conveyed to industry leaders last week.
India, he asserted, could now grow for a longer period of seven to 15 years as China did
between 1979 and 2008 without ‘running into overheating problems’ as it did after three-four
years of strong growth in recent decades. Among the reasons for his optimism - strong
momentum, better macro fundamentals with inflation and trade deficits easing in recent
months and cleaner bank and corporate balance sheets, bolstered by reforms such as Goods
and Services Tax (GST) and digitisation that are spurring formalisation.

SubQuestion No : 6
Identify a suitable title for the passage.

#< 1. China's growth and India's growth
" 2. India’s economy firmly on the growth path
< 3. GDP and India's chief economic advisor

< 4. Pandemic is over

Question ID

Option 4 ID

: 630680330333
Option 11D :
Option 21D :
Option 31D :

6306801285007
6306801285006
6306801285005

: 6306801285008
Status :
Chosen Option :

Answered
1




Q.7
Ans

Comprehension:

Read the following information carefully and answer the given questions.

India's economy is firmly out of the throes of the pandemic blues, the higher-than-expected
7.2% GDP growth last year could actually be an 'underestimate’, and the country is now
poised for a decade, if not more, of uninterrupted 6.5%-7% growth, even if no further reforms
are undertaken. This was the key message from Chief Economic Advisor, V Anantha
Nageswaran's prognosis of the state of the economy, conveyed to industry leaders last week.
India, he asserted, could now grow for a longer period of seven to 15 years as China did
between 1979 and 2008 without ‘running into overheating problems’ as it did after three-four
years of strong growth in recent decades. Among the reasons for his optimism - strong
momentum, better macro fundamentals with inflation and trade deficits easing in recent
months and cleaner bank and corporate balance sheets, bolstered by reforms such as Goods
and Services Tax (GST) and digitisation that are spurring formalisation.

SubQuestion No : 7
What is the meaning of the word ‘throes’ used in the passage?

«” 1. Complicated or difficult situation
75 2. Ripples of water

< 3. Tosses of a ball

< 4. Vibrations of a string

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

630680330336
6306801285019
6306801285017
6306801285018
6306801285020
Not Answered




Q.8 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in

the correct order to form a meaningful and coherent paragraph.
A. How long did he crouch there?

B. He waited, straining his ears, for another instruction.

C. The updraft wafted around him, tickling his face.

D. He had no way of knowing.

Ans X 1.DCBA
< 2. ABCD
«” 3. BCAD
# 4. CDAB
Question ID : 630680330314
Option 11D : 6306801284938
Option 2 ID : 6306801284940
Option 3 ID : 6306801284939
Option 4 ID : 6306801284937
Status : Not Answered
Chosen Option : --
Q.9 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. Was it the high school?
B. The ringing stopped.
C. And where was her goddamned phone?
D. Benny always texted, so it wouldn't be him.
Ans X 1.CBDA
5 2. ABCD
# 3.ACBD
«” 4. DACB
Question ID : 630680330316
Option 1 ID : 6306801284948
Option 2 ID : 6306801284945
Option 3 ID : 6306801284947
Option 4 ID : 6306801284946
Status : Answered
Chosen Option : 3




Q.10 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in

Ans

the correct order to form a meaningful and coherent paragraph.

A. She could take the bus over to Whole Foods Market and get a salad from the salad

bar.

B. What she really needed was a salad.
C. The chips and salsa failed to satisfy.

D. A nice big salad with carrots and tomatoes and avocadoes and other healthy things.

#< 1.DCBA
< 2.ABCD
< 3.DCAB
«” 4. CBDA

Question ID :
Option 11D :
Option 21D :

Option 3 ID

Chosen Option

630680330309
6306801284918
6306801284917

: 6306801284920
Option 4 ID :

Status :
1

6306801284919
Answered






